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[3.1절]

3.8 알루미늄의 영률   = 71×109 Pa (=N/m2)

 = 2,000 kg,    = 3 m,   = 0.02,   = 1.0 m4,   = 2,000 N,   = 0.1 s

강성   = 
 


 =  m

 × Nm  m 
 = 7.89×109 (N/m)

  = 





 = 


 kg

× Nm
 = 1,986 rad/s,   

   = (0.02)(1,986 rad/s) = 39.7 rad/s

 = 

  = (1,986 rad/s)  = 1,986 rad/s

 =  

 

     sin  =  kg rads

 N s
     sin(1,986 )

     = 50.4×10-6     sin(1,986 )   m   = 50.4     sin(1,986 )   m
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